[image: image1.jpg]1) A student wants to place a flower pot on a board that jus out
rom a window 5o it will get more sunlight (Fig. 11-28). The
 flower pot has @ mass of 3.5 kg and needs to be 50 cm from the
 windowsill. The student can only place a nail ino the sill ¢ cm
. from the edge. Neglect the mass of the board and find out how
- much force the nail must exert 1o hold the board in place. What
5 the nature of the force “exeried” by the nail?
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A FIGURE 11-28 Problem 16.

41 (IIT) A seaside tower is supported by a cable (Fig. 11-41, see

35. (1) A variant of the crane in Example 11-6 is shown in Fig.

1140, The pivot at point B is frictionless, and the beam, of
fength 3,00 m, has mass 100 kg. The rope makes an angle of 30°
with the horizontal and can withstand a tension of 10,000 N be-

fore breaking. If this arrangement s used to it masses from the
‘point shown on the beam, what is the maximum mass that can be
50 raised?
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A FIGURE 1140 Problem 35.

next page). A horizontal wind that increases with height often
blows from the left, exerting a horizontal force to the right on the
tower. The horizontal force on a unit length of the tower increas-
s with the height 7 according to force/unit length = ah, where
s the height from ground level, and, if  is measured in meters,
@ = 50 N/n. The total height of the tower is 20 m. What is the
tension in the cable?

A FIGURE 11-41  Problem 41.




